8 6 5 4 3 2 1
REV REVISION DRAWN BY | APPROVAL DATE ITEM | PART NUMBER | REV DESCRIPTION DESCRIPTION 2 Qty
01 INITIAL MANUFACTURING RELEASE AJC AJC 01/07/14 ‘ 10095 TELEMATICS MODULE HED CL-T02-100-ODBS-001 ‘
2 10096 ANTENNA, TELEMATICS,HED,7M CBL1 108-01-606-GSM/GPS ]
3 30071 NUT,FLANGE,M8X1.25MM ZPS,GR 8.8 4
4 30115 BOLT,FLANGE HEAD,M8X1.25X30MM ZPS,GR 8.8 4
ﬁ ﬁ 5 30156 BOLT,FLANGE HEAD,MéX1.0X35MM ZPS 2
— — 6 40249 01 | BRACKET,TELEMATICS,ASSY,HED UNDER CAB,INTERNATIONAL 1
(4.70
— (1.45) "
(3.32)
LOCATION OF BOLTS
(30126) AND NUTS (30071)
TO ATTACH SUB ASSEMBLY
TO CHASSIS
(5.27)
ﬁ-{E%FP'EL\EIT/IAEY AN,;‘AIDNECD:%%'\:lDDREA';IVTr\llAll_ THE LE PROPERTY OF ODYNE SYSTEMS LL(
REPROE?UCT\O?\?IN %AORT ORAS A WHSOLE WITHOGUTSTHE \?V%IWEN (P)ERMISS%NOOF ODiNSE 1S PSROE\B\TED m
S TR A e s DRAWN | AJC | 01/07/14
DIMENSIONS ARE IN INCHES . CHECKED AJC 01/07/14 ODYdN E
e e
/ \ ONE PLACEDECIMAL - £ 0.060  \FG APPR  AJC | 01/07/14 , , ,
(10.38) THREE FLACE DEGIMAL : 0010 A APPR UNDER CAB,INTERNATIONAL
ASME V1461994 Size PART NUMBER REV
FINISH B 70235 O]
@_ E_ SCALE 1:2 DO NOT SCALE DRAWING SHEET 1 OF 2
8 6 5 4 3 2 1




8 7 6 5 4 3 2 1

REV REVISION DRAWN BY | APPROVAL DATE ITEM | PART NUMBER | REV DESCRIPTION DESCRIPTION 2 Qty

01 INITIAL MANUFACTURING RELEASE AJC AJC 01/07/14 7 40249 01 | BRACKET,TELEMATICS,ASSY,HED UNDER CAB,INTERNATIONAL 1
8 10095 TELEMATICS MODULE,HED CL-T02-100-ODS-001 1
9 30156 BOLT,FLANGE HEAD,MéX1.0X35MM ZPS 2
10 30115 BOLT,FLANGE HEAD,M8X1.25X30MM ZPS,GR 8.8 4
11 30071 NUT,FLANGE,M8X1.25MM ZPS,GR 8.8 4

TORQUE VALUE | 169 IN-LB

TORQUE VALUE | 69 IN-LB

APPLY BLUE LOCTITE TO BOLT THREADS

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF ODYNE SYSTEMS LLC
REPRODUCTION IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF ODYNE IS PROHIBITED

APPLY BLUE LOCTITE TO BOLT THREADS

oDYNE (%

CHECKED 01/07/14 e .odvhe com
AV 209 ENG APPR 1/7/2014 -oayne.
ONE PLACE DECIMAL  + 0.060
ONEPLACEDECIMAL 2 0060 MFG APPR 01/07/14 SUB ASSY, TELEMATICS,HED,INTL
THREE PLACE DECIMAL £ 0.010 | QA APPR UNDER CAB,INTERNATIONAL
MATERIAL INTERPRET GEOMETRIC TOLERANCE PER

ASME Y14.5M-1994

SIZE PART NUMBER REV
B 70235 01
SCALE 1:3 DO NOT SCALE DRAWING SHEET 2 OF 2

1




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View5

	Sheet2
	Drawing View6


